QUESTION: 20,000 gallons of hazardous waste are transported by railroad tank car to a
transfer facility where the contents are loaded into five tank trucks

for trangport to the hazardous waste management facility identified on the

manifest. How should the manifest befilled out so asto reflect the

total quantity shipped and the quantities carried by each tank truck?

ANSWER:  Oneway to indicate both the tota quantity (20,000 galons) and the
individua quantities (4,000 gdlongftruck) is to indicate five “lineitems’ on the manifest of
4,000 galons each. One copy of the manifest would be supplied to each truck driver with
four of the entries"lined-out." Thiswill give each truck driver amanifest which accurately
reflects his load plus the total amount shipped.
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